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1. HEE IS [BWAY] - == 8 (H810xW2000-SB3S )& X2 Al "A2M'Y (E272H)
N = ®139.8%x4.5tx2100 1 = 104,700 104,700 104,700 104,700
22X = ®125%4.3tx700 1 = 27,100 27,100 27,100 27,100
3Waydl 460x%3.2tx4330 0.5| & 231,000 115,500 231,000 115,500 |[OtHE3 F= BN It (HEAE)
S0t 389x4.3tx624 11 M 37,200 37,200 37,200 37,200
A= ®139.8 8 11 M 2,400 2,400 2,400 2,400
SR IFSE S20121/M19%180[ 1N,2PW] 2| ME 1,600 3,200 1,600 3,200
DHEEE S20121/M18%40[1N,2PW] 4] NE 700 2,800 700 2,800
dYEABEE S2021/M16+33[1N,2PW] 6| ME 400 2,400 400 2,400
2 A (KB HI) 295,300 - - 295,300 [2024.09 HeHJt P.264
X=4 X4l sEgog 0.038 | ¢ 219,321 8,355 219,321 8,355 |+EAEAT
2302 0.019 | ¢ 167,081 3,182 167,081 3,182 |+aEAT
gl €A Xl sEgog 0.073 | ¢ 219,321 15,950 219,321 15,950 |+=&atEA2
202 0.036 | ¢ 167,081 6,075 167,081 6,075 |[+4aEA2
S (20l 28 0.6m° 0.038 | hr 24,610 935 56,874 2,161 34,509 1,311 115,993 4,407 |JI2T0H, 2ZAEMS
HOE™ 2.5ton 0.074 | hr 6,846 506 48,742 3,606 6,169 456 61,757 4,568 |JI200t2, SZMEA4
S7REZ oIAE 9 5% 1] 4l 1,678 1,678 1,678 1,678
AAH(EXIHI) 3,119 39,329 1,767 44,215
Al 298,419 39,329 1,767 339,515
* 'm"e G} 339,515 |/ 2m = 169,758
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2. H2(EEE [3WAY] H810 =58) X2 A "HA'E (ES72) - =2 Y
N = ®139.8%x4.5tx2100 0.5| = 104,700 52,350 104,700 52,350
ERAPNES ®125%4.3tx700 0.5| = 27,100 13,550 27,100 13,550
A = ®139.8 8 0.5 M 2,400 1,200 2,400 1,200
S0t 389x4.3tx624 0.5/ M 37,200 18,600 37,200 18,600
2 460%x965x 4t 1 & 160,000 160,000 160,000 160,000 |OtE=3 = XM It
SR IFSE S20/21/M19%180[ 1N,2PW] 1| HE 1,600 1,600 1,600 1,600
DHEEE S20121/M18%40[1N,2PW] 4| HE 700 2,800 700 2,800
dYEABEE S2021/M16+33[1N,2PW] 2| ME 400 800 400 800
A2 (RISHI) 250,900 - - 250,900 |2024.09 JH2HI+ P.264
X==4 X4l sEgog 0.019 | ¢ 219,321 4,167 219,321 4,167 |EET22 50%
202 0.010 | ¢ 167,081 1,587 167,081 1,687 |EET2t2 50%
gl €A Xl sEgog 0.036 | ¢ 219,321 7,983 219,321 7,983 |EET2H2 50%
202 0.018 | ¢ 167,081 3,040 167,081 3,040 |EET22 50%
WS (Ea0lA L8 0.6m® 0.019 | hr 24,610 467 56,874 1,080 34,509 655 115,993 2,202 |EFET2t2 50%
HOE™ 2.5ton 0.037 | hr 6,846 253 48,742 1,803 6,169 228 61,757 2,284 |EET22 50%
S7REZ oIAEZE 9 5% 1] 4l 838 838 838 838
2A(EXIHI) 1,558 19,660 883 22,101
Al 252,458 19,660 883 273,001
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3. H2(EEE [3WAY] HB10 =&58) &XI2A "A'e (E372) - A
N = ®139.8%x4.5tx2100 0.5| = 104,700 52,350 104,700 52,350
S22 = ®125%4.3tx700 0.5| = 27,100 13,550 27,100 13,550
A = ®139.8 8 0.5/ M 2,400 1,200 2,400 1,200
S0t 389x4.3tx624 0.5/ M 37,200 18,600 37,200 18,600
Al 460%x865x%3.2T 1 & 108,000 108,000 108,000 108,000
SR IFSE S20/21/M19%180[ 1N,2PW] 1| HE 1,600 1,600 1,600 1,600
NHEE S20121/M18+40[ 1N,2PW] 4] NE 700 2,800 700 2,800
dYEABEE S2021/M16+33[1N,2PW] 6| NE 400 2,400 400 2,400
AARIZHI) 200,500 - - 200,500
X==4 X4l sEgog 0.019 | ¢ 219,321 4,167 219,321 4,167
202 0.010 | ¢ 167,081 1,587 167,081 1,587
gl €A Xl sEgog 0.036 | ¢ 219,321 7,983 219,321 7,983
202 0.018 | ¢ 167,081 3,040 167,081 3,040
WS (B0l L&) 0.6m® 0.019 | hr 24,610 467 56,874 1,080 34,509 655 115,993 2,202
HOE™ 2.5ton 0.037 | hr 6,846 253 48,742 1,803 6,169 228 61,757 2,284
S7REZ oIAEZE 9 5% 1] 4l 838 838 838 838
2A(EXIHI) 1,558 19,660 883 22,101
Al 202,058 19,660 883 222,601
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* H1SHE : 24D((EH0I01, 0.6m°, LHESJI0IH Z&)-"'AI2H'Y
Seraus 0.6m° 1 hr 25,681 25,680 25,681 25,680 | e o b o oo
CEERVES 0.7m? 1| hr 8,829 8,829 8,829 8,829 |20 el e o
3R 0.001W% S 1.6 | 1,711 19,847 1,711 19,847 |2024.09 HeHt24 P.1451
e FHZO| 24% 0.24| Al 19,847 4,763 19,847 4,763
HEIIH2HE A 0.208 2l 272,996 56,874 272,996 56,874 |[12I1FAlIZIxA O H 2=x5 X H 2==(1/8)x(16/12)x(25/20)
Al 24,610 56,874 34,509 115,993
* H2SH : HZER(2.50n)-'A2H'E
d= =22l 24% 2.9 | 1,711 4,961 1,711 4,961 |2024.09 H2§J+24 P.1451
e F129| 38% 0.38| & 4,961 1,885 4,961 1,885
StEX2 A A 0.208 | ¢l 233,960 48,742 233,960 48,742 |1LIIF A0 i SxF X i 4=(1/8)x(16/12)x(25/20)
A 6,846 48,742 6,169 61,757
* UG}
Sgo= 2024.9.101% 1 « - 219,321 219,321 219,321 219,321
gso= 2024.9.101% 1 « - 167,081 167,081 167,081 167,081
2EIIHRE A 2024.9.101% 1 « - 272,996 272,996 272,996 272,996
S 2T Al 2024.9.101% 1 « - 233,960 233,960 233,960 233,960
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Z = 72 AE2H % 2 c 2 bl
sSgog 201%2m/420m+4 0.038 o - =5
= 20243 AL ZANBEEH Hg3l) P.745
ASEE A/ I HOIZO I 23 30
25018 101%2m/420m=*4 0.019 el
Sgolg 401%2m/440m+4 0.073 o - Ty
o 20248 HLSNEZEL(HSALE3S)
A axy) I HOISH [ 25 3
2501 201%2m/440m+4 0.036 el
WS (2019 28 0.6m* 10§*2m/420mx8 Al 2t 0.038 hr [20243 AL ZAEEEH




